ITIN—TA

ZHEIER—(X REAR—A R AR RR— A X EBHAR—AX Bt LT AR KA > b JE{L
. 2-10 0-10 1-14 10-3
ZHEIER—AX 1 4
0 0 0 1
e S 3-5 3-1 10-3
FRAR—A X 3 2
1 0 1 1
. 10-0 7-1
mlEhRR— A X 1 1 4 1
. 14-1 1-3
HERHR—AX 2 3
1 0
3-10 3-10
Bty FLT7H—LX 5 5 0 5




IN—7B

BARER—( X BAHR— A X FEZER— A X ZHEEBRZER—( X HEhR (B) RA vk [=Civa
. 6-7 5-3 3-1 0-12
BAEER—A X 2 3
0 1 1 0
s R 9-1 7-1 1-11
EHER—( X 3 2
1 1 1 0
L . 3-5 4-5 0-16
MAIEZER— A X 0 5
0 0
. 1-3 1-7
ZHEREAR—AX 5 5 1 4
HERRA—4( X 12-0 11-1 . .
(B) 1 1




In—7C

FHFILFE— A X 2)l|thsA—{ X BHAUR—ARX | BAEAFA-—AX | BRMZE—AX A b [
. 1-5 3-2 7-3 2-2
FHFILR—A 2 2.4 3
0 1 1 0.4
. 16-6 4-1 10-3
2)lthsAR— 1 X 4 1
1 1 1
. g . 2-3 1-8 0-12
FHRFILA—A X 0 5
0 0 0
_ . . 3-7 1-4
BHRAFFH— A X 1 4
0 0
_ . 2-2 3-10
BHMEZHR—A X 2.4 2
0.4 0




In—7D

ARR—4 X FEhR(A) BHINIAR — A R SFEPBAR— 4 X N [=tiva
. 5-3 2-12 7-1 9-4
BHAE)|R—q X 3 2
0 1 1
. . 2-4
BER—A X : 1 3
HEHRR—4( X 12-2 . .
(A) 1
. 1-7
BH/NAR— 4 X : 1 5
4-9
=R —A X 1 4




IN—7TE

BRA—4 X

SME—A X

ERANBER—A X

EREMA—4 X

MR —A R BAINAR— A X BHIRMR— A X Ak Bz
3-8 8-2 1-13
1 3
0
2 2
0 4
3 1




IN—7TF

FHA—4 X EHER A —A X HEF—4 X ZHERRE—A X A b [=Eiva
N 2-10 3-4 3-0 3-6
BEA—A X 1 4
0 1 0
\ 8-3 5-2 2-1
AR —4 X 4 1
1 1 1 1
L 4-3 3-6 0-4
FAEF R — A 2 1 5
1 0 0
. 0-3 2-5 6-5
ARFA—A 2 2 3
0 0 1 1
\ 6-3 1-2 4-0
ZEHEPRE—A X . ; : 2 2




IN—7G

HEHBR—A X |B4EK- 557 20=06| BASIEAR—A X HOEKR—4 X ZEEFRR—A4X Ak JERL
. . 9-1 7-1 9-0 7-1
HEHER—A X 4 1
1 1 1 1
EAEIEB - =3B 1-15 3-0 0-24 ) 5
BEH=AGER 0 1 0
. R 1-7 8-0
FRETER—4 X 5 1 3 2
. . 0-9 0-3
FEOEKR—14 X 1 4
0 0
. 1-7 24-0
ZEHEFAR—A X 5 1 1 3




s Vv—7H

EAEBE—A X

EMELER—(4 X

EME/F—A X

HREAR—A X

TR — A X

ZEEBER—A X

EHEB/R—(X HERR—A4X BBER—AX ZEHEBER—A X A b [=Eiva
7-3 6-1 8-0 4 1
2 2
2 4
2 3
0 5




